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CARPENTER 32m

A carpenter has 32 metres of timber and wants to make a border around a garden bed. G arden Bed
He is considering the following designs for the garden bed.
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QUESTION 3

You can make a simple number cube by cmtrng,ﬁfdmg and gluing cardboard. This can be done tn many ways.
in thcﬁﬂm below you can sac_]'-our cuttings that can be used to make cubes, with dots on the sides.

Which Eﬁheﬁﬂomrg shapes can bﬁﬁfdfd together mﬁ!rm a cube that obeys the rule that the sum qfoppmtf
_fams 15 77 For each shape, circle either "Yes"or "No™tn the table below.




2003

A

2000

558(111)

543(107)

553(110)

565(109)

552(117)

¥

538(117)

540(110)

539(105)

539(92)

533(97)

538(107)

533(104)

500(112)

486(113)

472(97)

461(96)
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2003

2000

551(94)

N/A

548(99) 4

530(84)

543(95)

529(92)

540(106)

546(99)

540(107)

502(131)

537(92)

520(91)

536(112y

536(105)

486(98)

486(101)

[y pos




EXCHANGE RATE

Mei-Ling from Singapore was preparing to go to South Africa for 3 months as an exchange student.
She needed to change some Singapore dollars (SGD) into South African rand (ZAR).

QUESTION 2
Met-Ling found out that the exchange rate between Singapore dollars and South African rond was:
I8GD = 4.2 ZAR

Mei-Ling changed 3000 Singapore dellars into Em.rth;ifﬂr:m rand at this exchange rate.
How much money in Enmhlifﬂam rand did Mei-Ling get?

QUESTION 11
Elunng these 3 months the f.nj'mn!it rate had d'hmlgfd_ﬁ.:lm 4. 2t04.074R per GO

Wi 1t tn Met-Ling’s favour that the exchange rate now was 4.0 ZAR mstead of 4.2 ZAR, when she changed her South African
rand back to Singapare dollars? Gitve an explanation to support your answer.




SKATEBOARD

Eric is a great skateboard fan. He visits a shop named SKATERS to check some prices.

At this shop you can buy a complete board. Or you can buy a deck, a set of 4 wheels, a set of 2 trucks and a set of

hardware, and assemble your own board.

The prices for the shop’s products are:

Product Price in zeds

Complete skateboard 82 or 84

Deck 40, 60 or &5

One set of 4 wheels

One set of 2 trucks

One set of hardware (bearings,

rubber pads, bolts and nuts)

10 or 20




549(83)
545(99)
537(90)
534(93)

527(102Y]
517(97)

476(105)
357(91)




ngUPE 2153 m A samp]: of mathematics 1tems used in PISA for the u:m:::rtaint:,' scale:
Umit ROBBERIES

Number of
robberies per year

ROBBERIES

ATV reporter showed this graph

and said:

“The graph shows that there is a Year 1999

huge increase in the number of
robberies from 1998 to 19997

Year 1998




TEST SCORES

The diagram shows the results on a science test for two groups, labelled as Group A
and Group B.

The mean score for Group A is 6.2.0 and the mean for Group B is 64.5. Students pass
this test when their score is 50 or above.

Scores on a science test

Number of tudents
o]
g [l Group A

Group B

| | | | | |
09 20009 5058 ala% 7079 B0_RF  90-100 Soore




558(101)

549(90)

545(85)

542(87)

6

531(98)

528(98y

12

491(98)

363(71)




550(100)
544/(84)
542(92)
538(93)
536(99)
534(101%
532(87)
10
483(95)
356(100)







500 SD100




1 ERN
ERSICMT 5RE

s

YRDOBOHRRE I THET, BNoRBEEHLTRYET
DIE, SEHN 4 ERENS T, AEHEWI STIRRETEHOMET
&, HEITRMHEEAAXERNWT. BHeRBETIHERFT
~RETT,

HUSNTWAMFRC%EET LN, BUABOHEESE LT

E5TEE BETIOTL LS. TOOEMFL. BDITREDS

C UIEDRAM URWT, IERRBNCERLU T, 0B8R, 4
HEEGTAIOTIIENTL E DM,

bDi-LO#FEZTIE, BRPTx A, DEODXFE, ThEGN
TTIZENERTY. BRETES LEBEMESRLIZTAENS
D, BAEITELWZ ETT, FhHUTIAE< T, HlEEND
FEIL. AV OREBELUET, 5L TEfER B okt
IZHENTLESIDIZ, ZOITI RS - BIsE%HEELT
HSB200, A4ICRIIERTEEEA.

Y




A+, ADIFARATEEEETY, #oPlaza=r—a
VERETHINTHET, oo, BEOER. #MDICmLIEK
HTHEDOIBRRAY—, THOWSORFENSZTLEOM, €3,
KEFENhEd, Tid. ZEEErEhETH. FFEa3E0n5 A0
s, FrEhnEns AbnEd,

HlZEORDORBITEIALAIDTL & D, FEIDBREITIEEDR
®EISOTLL D, TOMD. HRETT.

BIRELTEAR, HREIZFFIERDELED, ROTHEYE
s TNTIL, HREETINIFIERDTIRNTERAM, T
TUIHIC, 33 24— a S OBETIZNTL L DD HBEY
DERTE. FHTEIN—TDEID, 8D TRMNTEKELEHED S,
—flDAR 2= r—33 TRV LB,

VRN E TR, LEBHST = v 7 OWOERITE S TL &
3. FNZAF—I LT H, £ UEROBEESEIT. TEhh) i,
N2 — hOEEFS S DFDFERLDOTT, 5 L7M
eIt ANSH B<HEESNTWADIZ,. FNERICAY A
DEBENTRIRREARENTNARAT. £oTLEVET,

SERORTY,

V247




HRZITIT AR L

ZDIDDFHOENENITILAT 2HMIL, KOSEENTTH.

A EEHE LA ERHATS,

B HEZIIDODNWTERERRS,

C #EEZXDAKEHHT S,

D FEZZEWMDBRLDICENZEBSI I ENEANLEIZIES.

HEHEICHT5M2

V74 T7HEEEFIEEVICHLTOWAEHBFAITI N,

HWEIClT5M 3

Hpld, COLHEOFHEOLEE SITHRLETH. FHHZWIEEHDFHOARIC
SNEHNS, BARODEREHE > THREOEAZRALTILESZ W,




543(81)
534(83)
528(89)
525(97)

1%,
498(106,)_ 522(86), 8
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24
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QUESTION 2

In the F.IEurs .FI'ElFrI :I'i]_f:l:ﬁﬂ.l]‘l the sun are shown :Frmmﬂ
on the earth.

Figur-e: J'J'Hhr mﬁfmm the sun

S
____.:_____
____E____
____E____

____‘!:_____

Earth

SLTFDIE' it 15 the shoriest dﬂ:,' in Melbourne.

Show the earth’s axis, the Northern Hemisphere, the

Southern Hemisphere and the Equator on thfﬁﬂm.
Label all paris :_llf-_ym.rr (TTISWET.




A copying machine for living beings?

Without any doubt, if there had been
elections for the animal of the year 1997,
Dolly would have been the winner Dolly
is a Scottish sheep that you see in the
photo. But Dolly is not just a simple sheep.
She is a done of another sheep. A clone
means: “a copy”. Cloning means: “copying
from a single master copy”. Scentists
succeeded in creating a sheep (Dolly) that
i5 identical to a sheep that functioned as a
master copy.

It was the Scottish scientist lan Wilmut
who designed the “copying machine” for
sheep. He took a very small piece from the
udder of an adult sheep [sheep 1).

Sheepl-Sheep3

From that small piece he removed

the nucleus, then he transferred the nucleus
into the egg-cell of another (female) sheep
(sheep 2). But first he removed from that
egg-cell all the material that would have
determined sheep 2 characteristics in a
lamb produced from that egg-cell. lan
Wilmut implanted the manipulated egg-
cell of sheep 2 into yet another [female)
sheep [sheep 3). Sheep 3 became pregnant
and had a lamb: Dolly.

Some scientists think that within a few
years it will be possible to clone people as
well. But many governments have already




548(91)
548(109) 550(90), 2

539(94)\.
538(101) |\,
525(103)

525(102)

491(101)
502(111)

385(87)



















Between-school variance Within-school variance

Mean performam
on the mathemat
80 . 40 &0 an scale

Turkey 423
Hungary 490
Japan 534
Belgium
Italy 446
Germany
Austria
Netherlands
Uruguay

Hong Kong-China
Czech Republic
Brazil
Korea
Slovak Republic
Liechtenstein
Gresce
Switzerland
Tumnisia

Indonesia

Luxembourg
Thailand
Portugal

Russian Federation
Serbia
Mexico

United States

Australia
Latvia
Mew Fealand
Spain
Macao-China
Canada
Ireland
Denmark
Poland
Sweden
Morway
Finland

Iceland
United Kingdom!










Effect of schools’ economic, social and cultural status
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Jirends in International
Mathematics and Science
Study (TIMSS)




A Chiness Tapal

M










Number
(Algebra)
(Measurement)

(Geometry)
Data



1
A scoop holds — kg of flour. How many scoops of flour are needed te fill a
a

o Wy - -
bag with 6 kg of flour’ SCOOp:

I
Answers: 6 _-#5,'

6 X5

30 Scoops




Which of these numbers 158 closest to 107

@ 0.10
® -

© 10.10
@ 10.90




618(77.8)
586(86.0)
586(71,4)
585(101.4)
557(89.5) |-
539(68.2)
539(68.3)

508(81.0)

274(106.7)







The three fipures below are divided into amall conpruent triangles.

1 3
2 4
1 5 7
2 6|8
Figure 1 Figure 2 Figure 3

A, Complete the table below, First, fill in how many small triangles m
up Figure 3. Then, find the number of small triangles that would b
needed for the 4th figure if the sequence of figures is extended.

Number of

Figure Small Triangles

1 2

2 8
3 | 18
4 32

. The sequence of figures is extended to the 7th figure. How many small

triangles would be needed for Figure 77

a3 7 %2
4q x 2

Answer:

. The sequence of figures 1s extended to the 50th figure. Explain a way to

find the number of small triangles 1n the 50th fipure that does not
mvolve deawing it and counting the number of triangles.

50*% A2
'1/500 <~
5@5&



, then n equals




597(92.3)
590(85.0)
585(108.1)
580(72.1)
568(80.2) |-
534(76.3)
528(65.3)

510(77.5)

275(113.5)







All the small blocks are the same size. Which stack of blocks has a different
volume from the others?

(bj)=0.136




Which of theze 12 the LEAST amount of time?

N
A

e
B
=
.,__l;__..

=
=)

] day
20 hours
1800 minutes

O0 000 seconds

(bj)=-0.112




611(79.7)

584(68.2)

577(82.8)

574(94.2)

559(73.6)

549(69.6)

535(68.5)

495(78.7)

262(98.9)







In this figure, trnangles ABC and DEF are congruent with BC = EF.

A

What is the measure of angle £GC Y

20°
40=
a0®
s0°

® 100°




508(86.9)
588(79.8) |
588(110.2
587(80.2)
580(80.7) |
540(65.6)
527(79.2)

472(74.4)

247(118.0)







Fh.-t[‘.f.', Frank, and Darlene have jl,::—;’r moved to Zedland. ThL!F each need to
get phone service. They received the following information from the
telephone company about the two different phone plans it offers,

They must pay a set fee each month and there are different rates for each
minute they talk. These rates depend on the time of the day or night they
use the phone, and on which pavment plan they choose, Both plans include
time for which phone calls are free. Details of the two plans are shown in
the table below.

Rate per minute Free minutes

Monthly Fee Day Night per month
(B am - & pm) (6 pm - B am)

Plan A 20 zeds 3 Zeds 1 zed

Plan B 15 zeds 2 zeds 2 zeds

Betty talks for less than 2 hours per month, Which plan would be less
expensive for her?

Liess expensive plan ?F/ﬁ;b{ E:"

Explain vour answer in terms of both the monthly fee and free minutes.

= he t&ﬂklﬁ = ,.Er_ﬁﬁ thauw = ‘alﬂ"u_'lﬁr
aue Plau B as Adess MDHH‘IE} j:es



579(78.3) _

573(71.8)

569(72.1)

568(83.1)

566(72.0) |

560(69.5)

546(74.5)

527(72.3)

293(99.6)










N\
2008 \\
605(BO)\
589(84) \

586(72) /5(582(73)
585(100) / 5‘8@(104)
570(80)°] | 579(80)
537(73) | 558(77)
536(69) | 540(73)
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2003

1999

578(92)

| 568(97)

A

569(89)

558(70) |

549(85)

556(66) |/

530(70)

552(65)/|

N/A

552(71)

550(76)

543(76) |

552(84)




= 1999 “Agree a lot”
“Agree a little™


















